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Relação do aço

Cobertura: P1 P2

P5 P10

P13 P14

Reservatório: P6 P7

AÇO N DIAM

(mm)

QUANT
C.UNIT

(cm)

C.TOTAL

(cm)

CA60 1 5.0 367 48 17616

CA50 2 10.0 28 265 7420

3 10.0 44 VAR VAR

4 10.0 16 87 1392

5 10.0 16 306 4896

6 12.5 12 265 3180

7 12.5 12 VAR VAR

Resumo do aço

AÇO DIAM

(mm)

C.TOTAL

(m)

QUANT

(Barras)

PESO

(kg)

CA50

CA60

10.0

12.5

5.0

164.4

40.2

176.2

14

4

15

101.3

38.7

27.2

PESO TOTAL

(kg)

CA50

CA60

140.1

27.2

Volume de concreto (C-25) = 0.96 m³

Área de forma = 25.51 m²

P3

P11

P8 P9

P4

P12

prefeitura de
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